
Linear

180௢

Trigonal Planar

120௢

Bent

< 120௢

Tetrahedral

109.5௢

Trigonal
Pyramid

< 109.5௢

Bent

< 109.5௢

120௢

90௢

   Trigonal
Bipyramidal

See-saw

< 90௢

< 120௢

T-Structure

< 90௢

Linear

180௢

T-Structure

90௢

Octahedral

90଴

90௢

  Square
Pyramidal

Square Planar

90௢

90௢

< 90௢

Electronegativities𝐻
2.1

Electronegativity : The tendency of 
an atom to attract/hold electrons.

𝑉𝑜𝑙𝑢𝑚𝑒 𝑉𝑜𝑙𝑢𝑚𝑒

𝑀𝑎𝑠𝑠

6.02 × 10ଶଷ 𝑎𝑡𝑜𝑚𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

6.02 × 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑎𝑡𝑜𝑚𝑠

𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒
⎯⎯⎯⎯⎯⎯⎯⎯

𝑔

𝑚𝑜𝑙
⎯⎯⎯⎯6.02 × 10ଶଷ 𝑝𝑎𝑟𝑡𝑖𝑐𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

22.4𝐿

𝑚𝑜𝑙
⎯⎯⎯⎯⎯

𝑔

𝑚𝑜𝑙
⎯⎯⎯⎯ 6.02 × 10ଶଷ 𝑝𝑎𝑟𝑡𝑖𝑐𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

6.02 × 10ଶଷ 𝑎𝑡𝑜𝑚𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

6.02 × 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠

𝑚𝑜𝑙
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑀𝑜𝑙𝑎𝑟
𝑅𝑎𝑡𝑖𝑜

𝐴𝑡𝑜𝑚𝑠

𝑐 =
𝑛

𝑉
⎯⎯

2 𝑚𝑜𝑙 𝑂ଶ(௚) ×
32𝑔

1 𝑚𝑜𝑙 𝑂ଶ(௚)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 64 𝑔 𝑂ଶ(௚)

𝑀𝑜𝑙𝑎𝑟
𝑀𝑎𝑠𝑠

𝑅𝑇𝑃 = 24.5
𝐿

𝑚𝑜𝑙
⎯⎯⎯⎯

𝐷 =
𝑚

𝑉
⎯⎯

𝑚𝑜𝑙 @

𝑚𝑜𝑙 @∗
⎯⎯⎯⎯⎯⎯⎯

𝑀𝑜𝑙𝑒𝑠 𝑀𝑜𝑙𝑒𝑠

𝑀𝑎𝑠𝑠

22.4𝐿

𝑚𝑜𝑙
⎯⎯⎯⎯⎯𝑆𝑇𝑃

Solution

𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒(𝑠)

𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒(𝑠)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

       𝐷 → 𝐷𝑒𝑛𝑠𝑖𝑡𝑦
      𝑚 →  𝑀𝑎𝑠𝑠
       𝑉 → 𝑉𝑜𝑙𝑢𝑚𝑒
𝐺𝑀𝑀 → 𝑀𝑜𝑙𝑎𝑟 𝑀𝑎𝑠𝑠
        𝑔 → 𝐺𝑟𝑎𝑚𝑠
   𝑚𝑜𝑙 → # 𝑜𝑓 𝑚𝑜𝑙𝑒𝑠
        𝑛 → # 𝑜𝑓 𝑚𝑜𝑙𝑒𝑠
       𝑀 → 𝑀𝑜𝑙𝑎𝑟𝑖𝑡𝑦

Molecules
1 𝑚𝑜𝑙 𝐻ଶ𝑂 =

1 𝑚𝑜𝑙 𝑂

1 𝑚𝑜𝑙 𝐻ଶ𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

2 𝑚𝑜𝑙 𝐻ଶ

1 𝑚𝑜𝑙 𝐻ଶ𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯
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